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Questions

If sum of two angle is 90 ®hen it is called.

Angle greater thn 180 © and less than 360 Cis called.

An angle which is less than 90 © is called......... agle.

A polygon is a closed shpe which has......... straight edges.

A perpendicular bisector alwyas passes through ......... of line segment

In equllateral traingles the sum of length of any two sides is......... the third side.

In the right angleed traingle, te largest side is called.

Any closed shape having three straight edges and three angle is called.

All lines of segment has........ and point.

Arayhas ........ starting point.

Answers Choice

A. Complementry angles
B. Supplementary angle
C. Straight angle

D. Complete angle

. Acute angle

. Obtuse angle
. Right angle

. Reflexangle

. Acute
. Obtuse
. Right
. Straigh

. One

. Two

. Three

. Three or more

. Two points
. Mid point

. Three point
. None

. Less than
. Greater than
. None of these

. base

. Perpendicular
. Hypotensuse
. Segment

. Pentagon
. Hexagon

. Triangle

. REctangle

. One

. Two

. Three
. None

. One
. Two
C. Three
D. None of these

A
B
C
D
A
B
o]
D
A
B
C
D
A
B
C
D
A. Equal to
B
C
D
A
B
C
D
A
B
C
D
A
B
o]
D
A
B



